— d2 — d2
M(tt) Tm (7 AM(T) M(tt) T (7))

[GeV] [fb GeV 2] [GeV] [fb GeV 2]
0 < pr(tt) < 35GeV
300-375 1.414 0.05 £0.09 625-740 0.86+ 0.03 +0.10
375-450 2.77+£ 0.06 £0.38 740-850 0.47+ 0.02 £0.05

450-530 2.20£ 0.05 £0.38 850-1100 0.21+ 0.01 £0.04
530-625 1.424+ 0.04 £0.21 | 1100-2000 0.0294 0.003 £0.012

35 < pr(tt) < 80GeV
300-375 0.87£ 0.03 +0.08 625-740 0.64+ 0.02 +0.06
375-450 1.71+£ 0.03 £0.19 740-850 0.35+ 0.01 +0.03
450-530 1.394 0.03 £0.15 850-1100 0.1534 0.006 £0.019
530-625 1.00£ 0.02 £0.09 | 1100-2000 0.017+ 0.001 £0.004

80 < pr(tt) < 140GeV
300-375 0.304 0.01 £0.03 | 625-740 0.242-+ 0.008 £0.021
375-450 0.65+ 0.02 +0.07 | 740-850 0.132+ 0.006 +0.015
450-530 0.53+ 0.01 £0.06 | 850-1100  0.057 0.003 +0.007
530-625 0.384 0.01 +£0.04 | 1100-2000  0.0063-0.00070.0017

140 < pr(tf) < 500 GeV
300-375  0.034-£0.002--0.006 | 625-740 0.038+ 0.001 +0.004
375-450  0.079-£0.0030.009 | 740-850 0.022+ 0.001 +0.003
450-530  0.07540.002+0.008 | 850-1100  0.0104-0.000740.0009
530-625  0.059--0.002--0.007 | 1100-2000  0.0015--0.0002-0.0002




